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Physical Education

Paper 1II

IHiRer forem
gyutent II

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT ¢ A YIehd THY WM (100) sgUarl g9 foorel ofed. gcieh Ueeren g (2)

[Maximum Marks : 200

U TR Wl U dredl

1.

Wellness is :

(A) Achievement of optimal health
and vitality

(B) Absence of disease
(C) Maintain healthy body
(D) Physical fitness

The ratio of length and breadth of
National Flag :

(A) 3:2
B) 2:3
(C) 3:4
(D) 4:3

One of the following is an
inappropriate feedback while
correcting the child :

(A) Remember to step forward
(B) Practise properly

(C) Look at the incoming object
(D) Turn towards object

IR = S

(A) ST g 3nfor SiaHsrent daifed
HLO

(B) T SrHre
(C) firtt RN <@vrer 30
(D) ¥R gge

TS eaSTre ofst ST BEe WA

(A) 3:2
B) 2:3
(C) 3:4
D) 4:3

foeneai=ar HEAAET &K L]
T SR IRy

(A) 92 UTHd IAhU A oA
(B) Irg WE &
(C) JuT Hghe @l o

[N

(D) == f¥he I

[P.T.O.



For the year 2017-2018 who
received the Jeevan Gourav award
in sports of Maharashtra state :

(A) Shri Uday Deshpande
(B) Shri Ramesh Vipat
(C) Shri Ganpat Mane
(D) Shri Bhishmraj Bam

Countries participating in Common-
wealth Games :

(I) Canada

(II) India

(ITI) Australia

(IV) New Zealand
(A) I, IIT and IV
(B) I, II, III and IV
(C) II, IIT and IV
(D) III and IV

Which of the following is an example
of test protocol when setting up a
fitness test ?

(A) To ensure that the distance is
measured accurately

(B) To shower and change your
clothes after the test

(C) To try and compete with others
to get the best score

(D) To shout out the score after a
flexibility test
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¥ 2017-2018 1 TE=1 HERTE T
ST ShieT SATdiie  Sifa TIRa ' qEahR
hromett THesten 2

(A) it 389 qemre

(B) &t W faue

(C) =it Torga w1

(D) &t Tyeats &m

ToZeRel Wodld WeWrl B0 <F
(D AT

(II) ¥Rd

(I11) SAreferan

IV) Hfsere

(A) I, III e7for IV

(B) I, II, III effor IV

(C) II, III swfor IV

(D) III swfor IV

fheTg ==l ¥ 39 HIAHT Teierde]

HIOTd TTION FielehicTal Teh SqTelvl

e ?

(A) SR STHIU Hislel S0 § HAv=a
ETU

(B) Iravht FdT 3fex ofrfur wue

A

(C) wam U THesauar Sl Sataier

T Smfor Tl HuETErSt

(D) SAfahal STEUiAM ©hieR Higd™
Py




Country that hosted Asian and

Olympic Games :
(I) China

(IT) Japan

(IIT) Indonesia
(IV) Malaysia

A) I, III, IV
(B) T and II

©) I, II, III
D) I, II, III, IV

The environment can affect
participation in physical activities,
which one of the following is an
example of a city environment
having a ‘Negative Effect’ on

participation in physical activities ?
(A) Good transport system

(B) Many indoor sports facilities
(C) Few area of green space

(D) Multi-cultural population
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Shelall ]9 :

@ ==

(II) 9™

(IID) SEfRmT

(IV) HeAfgr

(A) I, I, IV

(B) I smfor 11

(C) I, 11, III

D) I, II, III, IV

IAERY ¥ RIS SUHAHS euri
VAT NI F& Tehd. gATIRT
Y& qHTILOMER. FehMIcHeh ST eifeh
SUHHAEL Y& TSURT IR 10t
e ?

(A) =Tt ATeqe SHawel

(B) == 3SR whiel gfaw

(C) e wrma fgt=n S

(D) Jg-9EHideh TR

[P.T.O.



10.

11.

Which of these is the key issue with
the sports governing bodies of the

country ?

(A) Clarity of objectives of the

sports federation
(B) Financial clarity and strategy
(C) Broad composition and operation
(D) All of the above
Sports Psychology is :
(A) Developmental psychology
(B) Experimental psychology
(C) Clinical psychology
(D) Applied psychology

During concentric contraction the
..................... are pulled towards the

middle of sarcomere.
(A) I-band
(B) H-zone
(C) A-band

(D) Z-line

9.

10.

11.
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SIMAA HIS] TEIFAT ATThT  HIVTT
T gaid SR 9 a9 ?

(A) TRH B ICETE! T
(B) Tfefer wosedn STfor e
(C) sTe ToA M0 AR

(D) =fia w&

Hiel HEAE WIS

(A) faehTTcHS  HHHRTE

Nes

(B) 9MAIRTR AMEYIMTE
(C) TS HTHINE

NS

(D) 39N

A HIAARIA

HEE SR IATGTIT T THIRAE

ThHhIhS T




12.

(1

(2)

3)

Match the following and select the
correct answer from the codes given
below :
Site of Proposed
Fatigue Mechanism
Neuromuscular (I) Lack of oxygen
junction and inadequate
blood flow
Contractile (II) Local distribu-
mechanism tion caused by
contractile
fatigue signals
Central (ITI) Decreased
nervous release of
system acetylcholine
at nerve ending
Codes :

(1) (2) 3)

A IID D (ID)
B @D ) (I1I)
(C) (dID (I1) D

O D (ITD) (ID)

12.

(1)

(2)

3)

JUN - 71219/1I—A

N LTSN

e o S @l fooiean gfgdd
I e e

JRUAT fEamTUT WETad 90T

TEAES Se (D) WIEREE S
g I T
Yare

STeR=AT TN (I1) SETTes
BN Teqifieh
STEUHIHS
AN
gehdl

ER-REES | (I1T) HaREHTet STt

T sfferashIferT=
S HAXAT

Higar :

(1 (2) 3)

(A) ((IID D 1D

B) @O (ID) (I1IT)

(C) ((IID (I (D

D) @ (I1IT) (ID

[P.T.O.



13.

14.

15.

The following prolonged exercise, at
least how many hours are needed

to restore muscle glycogen level ?
(A) 48
(B) 24
(C) 12
D) 2

Minute ventilation (VE) = e X

Respiratory frequency (f).

(A) Inspiratory Reserved Volume
(IRV)

(B) Expiratory Reserved Volume
(ERV)

(C) Tidal Volume (TV)
(D) Vital Capacity (VC)

Find out the heart rate of a person
whose cardiac output (Q) is 20 litres
per minute and the stroke volume

is 0.15 liters per beat ?
(A) 133 beats/minute
(B) 125 beats/minute
(C) 70 beats/minute

(D) 180 beats/minute

13.

14.

15.
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(aNd . fa b o
MEEJCRS BRSNS IFNNRNIEEISEE]

qrdedl gelerd sroarErdt fehae fohdt am

(A) revaftaa ga (IRV)
(B) I=gartad el (ERV)
(C) Travafaa gar (TV)

(D) =& gitehdt (VO)

Ueh] SHKiTd ST THUT 8ad SARA (Q)
g 20 faex ufq fafe o8« 9 == ¥
0.15 foet 3@ W TN TEIRX S

/A ?

(A) 133 3rk/fafte
(B) 125 Jrh/fafTe
(C) 70 2ren/fafe
(D) 180 Jrh/fAfTe




16.

17.

18.

A mechanical action that promotes

venous return is provided by

(A) Venous pump
(B) Arterial pump
(C) Ventricular pump
(D) Respiratory pump

The basic structural unit of proteins

ATE .eevereeeeeniienns .
(A) Amino acids
(B) Lactic acid
(C) Ascorbic acid
(D) Acetic acid

The random movement of molecules

due to their kinetic energy is

(A) Systole
(B) Diastole
(C) Diffusion

(D) Osmosis

JUN - 71219/1I—A

I AAE foRan A_d .
(A) frem W9

(B) =&t 9

(C) Safter 9

(D) Yo99 UY

17. ‘q‘f\mé ‘IE *‘i{‘q"“ch') b{dq’; ..............

3.

(A) ST oA
(B) Tream=i

(C) 3fenifoich o
(D) sfafesw s

18. fast 9 q=a {vpAnefia angfeos

(A) BT 3MH=A
(B) &I FEI
(C) TER (Hhard)

(D) safaEo

[P.T.O.



19.

20.

21.

A complex molecule found in red
blood cells, which contains iron and
protein and is capable of combining

with oxygen is .......cc.eeeeees .
(A) Hemoglobin

(B) Hypotonic

(C) Hemodilution

(D) Hemolysis

The major cause of coronary heart

disease is ....ccocveevveeennnenn. .
(A) Vasoconstriction

(B) Vasodialation

(C) Hypertensive

(D) Atherosclerosis

Coronal plane is also known

AS rerreerenieeiene e .
(A) Sagittal plane
(B) Frontal plane
(C) Transverse plane

(D) Horizontal plane

19.

20.

21.
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A R Sfed 0] S «iE o

(A) fewrefsr

(B) Tt

(C) BHISHTIRH

(D) THETEEE

AT RIGREal h0T=al TeRTaTia=Ar=A

ISR & SRV §

R.

(A) feeT STR=H
(B) fetent T&ROl

(C) 3Tt dvRgeR
(D) SfelReREg

10



22.

23.

24.

25.

Which of the following is a hinge
joint ?

(A) Shoulder

(B) Elbow

(C) Neck

(D) Hip

levers are known as

force multipliers.

(A) Second and third class
(B) Third and first class
(C) First and second class
(D) None of the above

The product of mass and acceleration
IS coeerrreeereeeene .

(A) Force

(B) Inertia

(C) Velocity

(D) Work
Speed iS @ ..cevvvvveeeeeeennnns quantity.
(A) Scalar

(B) Vector

(C) Both scalar and vector

(D) None of the above

22.

23.

24.

25.
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T TeTieh hioTal faSTI=T |ien o1 ?
(A) @eT
(B) =W
(C) §H

(D) e

11

[P.T.O.



27.

28.

29.

........................ is an acceleration.
(A) Object speeds up

(B) Object slows down

(C) Object starts and stops

(D) All of the above

The centripetal force is directly

proportional to ...................... .
(A) Mass of the object

(B) Radius

(C) Both (A) and (B)

(D) None of the above

Upward force exerted on objects

submerged in fluids is called

(A) Drag
(B) Magnus
(C) Couple
(D) Bouyant

Angular Acceleration is represented

by symbol ...................... .
(A) Radial
(B) Omega
(C) Alpha
(D) Theta

27.

28.

29.
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(A) IEET T I9mE0
(B) a&g=t Tt A

(C) 9% 9] 9 sg 2o
(D) o« |

(C) (A) 9 (B) <=
(D) TAURT HIUART ATET

SATCIAIAES geaciedl IHaX d
SEIH ITaRITel

U Sl
(A) @R

(B) #TH

o0
[

Uld

(C) =9A

12
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30. The product of force and velocity | 30. o & S J=1 GGTeR IS,
:Z ) .......... k ............. . A) Frd
Wor
(B) kit
(B) Power i
(C) Energy ©)
(D) Inertia (D) e
31, e, is a preferred sampling 31. WAIA SMFRT= FTHEHe & =R
method for the population with IR EC G I
finite size. (A) & =Ry
(A) Area sampling (B) TEaviR =y
(B) Systematic sampling
(C) TG =5eH
(C) Purposive sampling
. (D) T <RIHA
(D) Cluster sampling A w . - ..
39 Which of the followi . 32. YelcTYehl <hIUTd HITTHIEATAT dId
. ich o e following is a e e 5
measure of internal consistency of e
a measure ? (A) a3
(A) Cronbach’s alpha (B) qobl\ldﬁl—gdq'fﬂ\ldﬁl
(B) Test retest reliability (C) TedaY FEuTeh
(C) Correlation coefficient (D) fe—diferent
D) t-test 33, TELSTLELTE. FEahig =1
33. H.R.P.F.includes ........ccccoo........ : HAET Bl
(I) Cardiovascular endurance (1) FRRIATET TeRyon
(IT) Muscular strength and (I) =9 qs 3T SR
endurance
(ITD) Agility (LDt eger
(IV) Flexibility (IV) erefe
(A) I, II and III (A) I, II effur III
B) L, II and IV (B) I, II smfor IV
(C) I, IIT and IV (C) I, III smior IV
(D) I, I, T and IV D) 1, T, T o IV
13 [P.T.O.
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34. @il 9 dERd T a9 o g 8q

34. Given below are two statements one

is labelled as Assertion (A) and the
other is labelled as Reason (R) :

Assertion (A) :

Psychological core of personality is
the deepest component which
includes attributes, value, interests,
motives and self worth of an

individual.
Reason (R) :

Psychological core of personality is
dynamic and external and make

adjustment of the environment.

In the context of the above
statement, which one of the

following is correct ?

(A) Both are true and (R) is the

correct explanation of (A)

(B) Both are true but (R) is not the

correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

AR
faam™ A)

SR AESTSNT I Eleter
Telel e AW UIYH, o, TR,

T T WA A e SR

TR :

SR AHERTSE MY 81 9 o

STE TSI 3T ALY FTATUTTER
RN Bl 3T

= fagMge 9 ¥q HYA @elierieht

R R £ g b

(A) T8I 9 3 (R) B (A) 9 s
TR0 3R

(B) T ¥ A (R) T (A) o TR

rev i orgy G Y

(C) (A) ® ¥ 31d 90 (R) & 39A
S

(D) (A) ® HA 31T T0 (R) § A
EII

14



35.

36.

37.

38.

Person with 1Q
considered to be intellectually
disabled.

(A) 120 and above

(B) 90 to 100

(C) Between 76 to 90
(D) Below 75

Pep talk is useful for ..................... .
(A) Motivation

(B) Emotional arousal
(C) Best performance
(D) All of the above
Motivation consists of :
(A) Direction

(B) Intensity

(C) Persistence

(D) All of the above

What skills do students learn in

cooperative games ?
(A) Responsibility and empathy
(B) How to keep other kids in line

(C) Ways to get what you want

often

(D) Reaching personal goals

36.

317.

38.
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e AiqHg Feleel S
(A) 120 3Tt

(B) 90 @ 100
(C) 76 T 90
(D) 75 U&m HH

(D) =l &6

TS TaMed faenedl s wRed
fYrehara ?

(A) SSEERT ST TS

(B) 3@ HaAM &Y es@mad

(C) el S T d fHesfavamne!
(D) SAfeRe &&F e

15

[P.T.O.



39.

40.

41.

The effectiveness of physical education
teaching is depended on .......... ?
Select correct code given below :

(a) Physical engaged time spent by

student on activity
b)
(c)

General supervision

Allocated time for physical
activity

(d) Well-planned and meaningful
task

Codes :

A @ & (©

B @ ©© @

< G © @

O @ ©® @

Who wrote Military system of
Gymnastics exercise for the use of
arm instructors mannual ?

(A) Archibald Msclarin
(B) Lundovin John
(C) Guthsmuts

(D) Henry Perling

The super compensation effect of
training is due to ..........ccc.......... .

(A) Appropriate load and recovery
(B) Lack of periodization

(C) Competition

(D) Practice

39.

40.

41.

JUN - 71219/1I—A

JOTEt YRR 1801 S1earas § e
ST ST ? ST Wetet TehaehT
g e e

(@) Tocaieais SUmATER T Sdd
EANIERI

(b) THF THAET

(¢) IR IushmmEE fuffa weren
AT E

(d) girarsia st siefqol s

Hehdich :

A @ b (©
B) (@ (©
< b  © @
D @ & @

care v feRead serdien
TSR TGl STANTER Hifed GRaehl

vl foafeedt sme ?

(A) IT=aTee AR

(B) e S

(C) TeHRY

(D) &1 Wi

gf¥reromer ‘g SwIEERTE 9o
.................................. T
(A) T ¥R STfor gy

(B) wrafayeH fSHRET s1vE
(C) waer

(D) &=

16
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42. The purpose of ethical principles for | 42. =aE@fas TERMEE fas g
professional preparation is ................ AU g TS 3794,
(A) Self-esteem (A) T :gfsar
(B) Special standard of work (B) w1 fafrse st
(C) Belief of people on profession (C) TR A
(D) Behaviour of professional - .

43 Bodv 4 related (D) IR ATER

. Body functions and related energy - -
List-I List-II AT Tll-11

(1) Digestion of (@) 55 to 75% (1) 9= @) 55 d 75%
food (2) BT @) 10 9 15%

(2) Movement (@) 10 to 15% (3) fasndt s () 10 ¥ 40%

(3) Resting (ziz) 10 to 40% I
Metabolism e
Codes :

(1) 2) 3

(1) 2 3 & G G @

i i i

A @G @ @ . .
B @ G O B O
© G) G i) © @ o @
D @ @) Gi) D) O @) @)

44. Endurance type training modulates | 44. THIRAUN WW ST F STER
fuel storage and substrate use. ST AU JEROm gId. &1 HJh
Adaptive response includes : PIRESICA MG o =) = N B
(A) Increasing intramuscular hpld (A) FEMEEHEME Hl*id'id‘id ferfas=

use during exercise T 9% B0
(B) Increasing muscle glycogen use (B) SAETHRTEN WT‘*{@#HTICH
during exercise T ST IO aT@ Qlvl
C) 1 i li 1 o~
© c(r)lrf{:rismg ver glycogen (C) IFaHEfa TATIRISAA GHTO
(D) Lowering intramuscular lipid C e
storage (D) FgeIaa fafres gamor &HE 3o
17 [P.T.O.



45.

46.

(@)

(b)

(c)

(d)

Sudden weight loss, delay in wound
healing, infection in urine are
symptoms of ...................... .

(A) High BP
(B) Cancer

(C) Diabetes

(D) Heart attack

Match the stages of development
List-I with systematic improvement
of teaching skill as List-II and
identify correct code given below :

List-I List-1I

Stage 1 (1) Learning how to
do more than one
thing at a time

Stage 2 (2) Initial discomfort
stage

Stage 3 (3) Learning how to
use your skills
more appropri-
ately

Stage 4 (4) Learning variety
of techniques

Codes :

(@ ®) © @@

Aa @ 3 O @

B) 2 @ @O B

3 @ O @

D @ @O 3 @

45.

46.

(@)

(b)

(c)

(d)

JUN - 71219/1I—A

ST S HHT B0, ST@H I B0
Y5 NI ST Teemead ggdE §
HIMAT ALTT TS ?

(A) 3= ladqd

(B) & AT

(C) 7YHE

(D) =TIl SRl

HRTed foermafeerdt ar-1 snfor st
HIRTCITE JGaeiR qrE=an aei-11 Fr=t
S[e3a0 hEd Wlelid Hehdiehlqd A

g fHerer .

qrat-1 aret-11

W 1 (1) TS dedl ek Tl
HIM  HUAT AT
3T

R 2 (2) Y= STEITLIA/
foafaa feerdt

R 3 (8) hINTT AL HI
It A 37T

R 4 (4) %k TP TTIA

F@H’I'T:E :

(@ b)) © @

Aa @@ 68 O @

B 2 @ @O O3

©c 3 @ a1 @

D @ @O 3 @

18



47.

48.

49.

Liquid meals are beneficial for all

reasons except :
(A) They are easily digested

(B) They provide energy without

feeling full
©)

They decrease lactic acid

production
They contribute of fluid needs

or more than that
is considered as overweight and

obese.

(A) 25 kg/m? and 30 kg/m?
(B) 12 kg/m? and 17 kg/m?
(C) 2.5 kg/m? and 3.0 kg/m?
(D) 30 kg/m? and 25 kg/m?
Factor responsible for obesity :
(I) Heredity

(II) Metabolism

(ITI) Lifestyle

(IV) Hormone

(A) T and II

(B) II, III and IV

(C) I, II, III and IV

D) I, II and IV

47.

48.

49.
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T TR BRI B 9t Jeid |al

HRG 3TRd ¢

(A) = &Sl 999 B

(B) TI=AMe U1 91 A oIl PRI S
fera

(C) Mo Wi s fafHdt et
=i

(D) A YRR Al RS 2

foren wmaen ek
1. TH. 3. TS| STl oo o Tl 3
HASTOATT 3.

(A) 25 T/ 9 30 fol/diee®
(B) 12 feir/wie? 9 17 fol/wiee®
(C) 2.5 fuy/HieR? 7 3.0 fohal/Hier?
(D) 30 ferl/e 3 25 fol/wiee®
TAdH SeeRR e

(I g

(II) ===

(IT1) SramRret

(IV) T

(A) T a7for 11

(B) II, III 7o IV

(C) I, I, T sfr TV
(D) I, T1 smfr IV
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50.

51.

52.

The Khelo India program has been

introduced to revive .........c........... .
(A)
(B)

The sports federations

The sports culture in India at

grass-root level

(C) The sports competition organi-

zation
D)

The capacity of Indian coaches

Balanced diet, Regular exercise and
Positive lifestyle will give the
benefit of .........cccceeeeiiil .

(I) Wellness

(II) Health

(III) Being healthy
(IV) Well being
(A) 1, 11, III

(B) II, III, IV
O Iv, I, 11

(D) I, II, III, IV

In a statistical table, the row

headings are referred to as :
(A) Source note

(B) Footnote

(C) Stub

(D) Body

50.

51.

52.

JUN - 71219/11—A
qASIiTad ISl ©ell gfedr Arstt

Hedld enUdld el

(A) ISl A

(B) RGNS FedH UTdediaiiel shie]
Gl

(C) wrel el e

(D) WRdE ARfGRiehT= &

o o

gradia e, Hafua
[a¥

3

R SR

Y TR
(D R
(I) W=
(I1D) fRefreom

(IV) =g

b

(A) 1, II, III
(B) II, III, IV
©) IV, 1, II

(D) I, II, II, IV

. ~n - aY o N0
HACARIATA ehlbeen(dle HigeHl Sl

SfsfeRTen 38 Hellgel S :
(A) @
(B) de

(C) &4

(D) =
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53. Easy-Effective way of maintaining | 53. fHIar  H9e@wWE=T  Tes- 4T
wellness 1S covuveeeevieeeeeenn.. ) QD e
@) Diet @
(i1) Exercise
(1) =™
(zit) Positive change in lifestyle
i) SS9 HehRIcHe sied
(A) (i) and (i) (¢ii) R
(B) () and (iii) (A) @) 3T (D)
(©) (), (i) and (i) (B) () =nfor (i)
(D) (7) and (1) (C) (), (ii) 3o (ii7)
54. Ancient and Modern Olympic Games (D) (i) 3 (ii1)
started in ... : . e - en
54. = enfur enyfre siffeifues e
(A) Greenland | 75 =R,
(B) Greece o
(A) Tets
(C) Athens
(D) Rome (B)
55. Of the following, the most important (C) =%
consideration in selecting a physical D) 9
education activity for primary school
class is to ensure that the selected 55. Al l’l el ¥R ferarvmdie
activity : SUsATEl ae A @l feeren
(A) Includes strength  and e SUSHHUSR! Fad HewmEl fa=r
endurance enhancement o ?
(B) Enables all children to (A) dmehe 9 THSRYON faerrEman Taufa
ticipat di t of N
participa ean. improvement o (B) wrerre Svremd wd frae
movement skills
(C) Includes both individual and
group component (C) Safash o Wifereh weehiel Sfqwid
(D) Has interdisciplinary connections (D) s oo gy
21 [P.T.O.



56.

57.

58.

Which of the following is an
appropriate practice in establishing

learning environment ?

(A) Rules vary from day-to-day

(B)

Teacher has systematic plans

(C) Students take responsibility of

their behaviour

(D)

Misbehaviours are dealt with

immediately

is not a dimension of

wellness.
(A) Physical
(B) Individual
(C) Intellectual
(D)

(D

Environmental

Expiration is the process of air

movement into the lungs.

(IT) Expiration at rest is usually a

passive process.

(A) Statement (I) is true and (I1) is

false

(B) Statement (I) is false and (II)

is true

(C) Statements (I) and (II) are true

(D) Statements (I) and (I1) are false

56.

57.

58.

JUN - 71219/1I—A

AT FTAraLol GEATUd  SHIuITETS
ke ke o e e 1 | > e e s | F R

(A) TS = ]
(B) foierspra fEeH dgasi o1dq

(C) foenet w@arem od=m=t Seeer

BT

(D) TREd" dichle Bldiesel STTd

ATEr

(A) I
(B) SaferTh
(C) shfgsh
(D) TFfei

1) =AH TSl gell FRHId STudrs|

fsran B3

(II) fasdioes=t Isga™ Wihal wedl

frepta sEa.
(A) faam () ¥ 3 (1) 38 TR
(B) faum (I) s/ & (II) ¥ 3T
(C) faem () 3 (1) ¥ med

(D) faam () @ JI) 3HA 3TMea
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59.

60.

(D

D

(A)

(B)

©)
(D)

D

D

(A)

(B)

(®)

(D)

Cholesterol be

synthesized by the body.

cannot

Lipoproteins are primarily
made up of unsaturated fatty

acid.

Statement (I) is true, statement

(IT) is false

Statement (I) is false, statement

(IT) is true
Statement (I) and (II) are true
Statement (I) and (IT) are false

Athletes require increased

amount of minerals above the

RDA.

Osteoporosis begins early in life
due mainly to inadequate

calcium intake.

Statement (I) is false and (II)

1s true

Statement (I) is true and (II) is

false
Statement (I) and (II) are true

Statement (I) and (IT) are false

JUN - 71219/1I—A

59. (I) IR Fera=l M & vend

60.

(ID

(A)

(B)

(®)

(D)

(D

(ID

(A)

(B)

(®)

(D)

.

YT SEYFd AR AT A

oot ffifdt 2.

faam (1) SR 3 fagm (1) I%
faem (1) == 9 faum (1) sts]
faum (1) enfor (ID) <=1 sk

faum (1) sufor (1) S I

BT SRR RTRREN THTomaE

SR THTOTG &TR 0] SATERaeh 3T

STYEATAT LA AT HTeoTd

QIS

Fq=Ar & fewram

S sTaRIfaT=l geam B
faum (1) s 3 (1) ¥ TR
faam () o= 9 (1) I8 TR
faam (D = (II) ¥ 3Ted

faum (D) = (I1) 39T 3TRd
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61.

62.

(1)
(2)
3)
(4)

63.

Periodization organize training and
conditioning program through :

(A) Exercise
(B) Cycles

(C) Recovery
(D) Intensity

Match the List A and B and select
the correct option :

List-A List-B
Intensity (z) Plyometrics
Time (z1) 3-5 days/weeks
Frequency  (iii) 60-80% of MHR
Type (tv) 40-45 min
Codes :

1 @ 6 @
(A) Gv) Gu) @) @
B) @ G @ @)
(©) @) Gv) @) @
D) G Gv) @O @)

Calculate THR at 60% intensity for
28 years old Kabaddi player whose
RHR is 70 bpm and who wants to
perform 35 min continuous running.

(A) 145.2 bpm
(B) 143.2 bpm
(C) 144.2 bpm
(D) 146.2 bpm

61.

62.

(1)
(2)
3)

(4)

63.

JUN - 71219/1I—A

FTafaars= fraisHa gfeneror oo
W S S - A
SIS hal Idrd.
(A) =™
(B) 9%
(C) gwrwit
(D) iter
ISt A oTfor B Seean STfU @vE g™
IREEINE
It A It B
ierer () rEmfed
EC (ii) 3-5 fqad/emeas
IRARET (i) U TEA TS
60-80%
EEIN (v) 40-45 faffe
Hehdich :
1 @ B @
(A) Guv) Gu) @) @)
B) @) Gv) @ G0
(C) () Guv) @) @)
D) Gu) Gv) @ G

28 I FATA Fece! @argdl RHR 70
bpm A @ 60% ditsiar 35 faf1e Tem
10l HAT 3. Sl THR ffv=a
U

(A) 145.2 srdiud
(B) 143.2 sidiuH
(C) 144.2 sidiuH
(D) 146.2 srdiuH
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64. i is a future oriented | gg e & Tw yfasmeh
process. T ot -
(A) Sports competition and
(A) el Tyl smfor foerm
development
(B) Sports participation and (B) IS TEYN 3701 FHmom
improvement N o
(C) ISt Hilgd 9124
(C) Sports equipment distribution
(D) shiel Tl e o foehrd
(D) Sports talent identification and
development 65. TS enfor Iehfery ferenfa shoam s
65. To develop strategies and tactics we qrm mifeet STE0
need to know the ............c......... . TeE 3
() Strength and weaknesses of the . ; : ;
opposition
i) ST Tod oA AT SO gaierd
(@) Our own strength and (@)
weaknesses ({ii) JAERONA o2h
(zii) Environmental factors (A) (i) S Gid)
(A) (ii) and (iit)
(B) (@) smiur (i2)
(B) (@) and @i)
C . 31_'_&[ “e
(©) (i) and (id) (C) (@) = (i)
D) @), (i) and (i) (D) (), i) 3T (ii7)
25 [P.T.O.



66.

67.

68.

The aim of technique training in
the first phase of skill acquisition

IS i, .

(A)

To achieve mastery over the

technique
(B)
©)

To achieve rough coordination

To achieve fine coordination in

technique
(D) To achieve skill conditioning

“You should exercise the energy
systems, muscles, actions and skills
that are relevant to that sport”.

principal of training does

this define.

(A) Frequency
(B) Progression
(C) Specificity
(D) Reversibility

Which one of the following best
describes the plyometrics training
method ?

(A) Involves mainly stretching
(B) Involves continuous running
(C) Involves long duration activity

(D) Involves mainly bounding and

hopping

67.

68.

JUN - 71219/1I—A

(A) AR TToomUET 9T

(B) 3eyee TH=<=T Huifcd il

(C) d31d dardd Ao U hu]
(D) ®ETed Gleerdt yra 30!

“Fefea Tt Fefdad s guel, T4,
FHdl ST HRTE AW TR A 0

& SR 90 .
(A) SRER

(B) W

(C) fafyme

(D) Yoo

ETelcTieh! TEHCE TIYTe0T g
A G FUE RO ?

(A) UIEA qTOTE FHE

(B) TsHOAT Ul SAqHrd

(C) TTHhTITEE=a1 IUHHAET HHE

(D) ITHEAN SHIeT Ao ST
siata
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69. In selecting talent, the most | 69. Y= fra<id, fourd =E@mEn I9d
important factor to be considered o=l U2k
1S trreeecreee e .
(i) Yfknaor feerdt
() Training state
(i) R
(ii) Health
(iti) eTae ST e
(zii) Interest and attitude 0
(v) Heredity Go)
(A) () and (i) (&) (@ s i)
(B) (iii), (ii) and (iv) (B) (i), (i) 3T (o)
(€) (), (i) and (iv) (©) @), @) = (iv)
D) @), @), @ir) and (v) D) @), @), Gir) 2o (Gv)
70. After acquiring mastery over skills, | 70. EANIDICE F@ FUed HeamaR
stress is laid on ...........cccee. S I 9T YAl
(A) Development of SRPF (A) THAR.W.Th. fasm™
(B) Tactical training (B) SEUETH®  FIeTeToT
(C) Technical preparation (C) it iolqula
(D) Training of HRPF components (D) TE.SR.A.TF. TeHR TrIE
71. The interview.in which a set of o.pen- 71w e e
ended questions are asked in a - Y g - -
specific order and exactly as worded R q:HH Yl TR
is - NSIATd, AT HATEA=AT Jehl iy
Y UL
(A) Focus group interview
e . (A) HIRE T HaTEd
(B) Closed quantitative interview
(C) Formal conversational interview (B) SIS HAHS () Fered
(D) Standardized open-ended (©) - qe
interview (D) wHIfUTd YK Helrerd
27 [P.T.O.



72.

(1)

(2)

3)

(4)

73.

Match the column I and IT and select
code :

Column I Column II

Alpha (o) (z) The magni-
tude of type 1I
error

Type I error (ii) Acceptance of

the null hypo-
thesis when
null hypoth-
esis is false

Type II error (i) Level of sig-
nificance

Beta () (tv) Rejection of
the null hy-
pothesis when
null hypothe-
sis is true

Codes :

1 @ 6 @

(A) () Gv) @) @)

B) @) G @ (o)

© @ G @) @)

D) & G Gv) G

Appropriate sequence of major

sections in the research report would
be :

(A) Introduction, method, results,

discussion, references

(B)

Introduction, references,
methods, results, discussion

(®)

Introduction, discussion,
method, results, references

(D)

Introduction, results, method,
references, discussion

72.

(1)

(2)

3)
(4)

73.
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WY oI Hehdish [Tael :

W 1 wY II

TR (o) (@) =9 II A=
AT

2R 1 3 () THT AFATHT
I ARyl
SRR

CiEE | Il (ii) HdHRAT TR

e (B) (iv) T STEAHT A
qReheqel N
I

i

1 2 & @

(A) @) Gv) @) @

B) Gu) G @ Gv)

© @ @G @) @)

D) @ Gi) Gv) @)

HNYA STeaTarda J&A Rl 9 e

qEreTden] IO ?
Tgdt, e, ==, ded

Teyd, ggdl, e, ==t

(A) FEE,

(B) 9,

(C) w&rem, ==, g, e, dg

(D) g&aeAl, e, ggdt, e, ==t
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74. In what tense is it suggested that | 74. HINYE 8= TEOAT ferfed™T o
the introduction of research report FTes AWE S gATS I ?
be written ?
(A) SHTRIS
(A) Present
(B) ¥d<pTes
(B) Past
(C) Future ©
(D) Any of the tenses (D) IR D
75. The defining feature of the historical | 75. Ufagifess weier aRwfea aftreea
research is to : BN
(A) Generate and develop a theory (A) fagra fmfn 5 fasfag w0
(B) Research about people, places (B) &dchloélcﬂm o1 A e i
and event in the past .
P EENIPEC T
(C) Describe the culture of a group .
of people © s 3 Rk
(D) Understand how individuals (D) AR TERT = HI ST
experience a phenomenon q ST
76. A design in which all participants | 76. Ta=al ¥d SUER URfEedHed @a
participate in all experimental yfaaes gearh @a|, 3 g
treatment conditions : ey =S
(A) Pre-test post-test control grou .
P BIOWP | (a) e b e st
design
(B) Post-test only design (B) e ST
(C) Repeated measures design (C) fifes Azl sfrhed
(D) Factorial design (D) ®RIRAA AfHehey
29 [P.T.O.



77.

78.

79.

“Amount of training (IV) leads to
increased muscle mass and better
muscle memory, which affects

overall exercise performance (DV).”

In this example, increased muscle

MEMOTY 1S ..uueeeeeeeeeeenns .
(A) Mediating variable
(B) Moderator variable
(C) Extraneous variable
(D) Categorical variable

Which of the following is the most

similar ?

(A) Nominal, ratio and interval

data
(B) Ordinal, nominal and ratio data
(C) Ordinal, interval and ratio data
(D) Nominal, ordinal and ratio data

Which test is used to assess the
relationship between two ordinal

variables ?

(A) Cramer’s V
(B) Phi

(C) Spearman’s rho

(D) Chi-square

77.

78.

79.

JUN - 71219/1I—A

“giRTaroTeAT JHTOTER = GHI07 Sed

o T Hdl U, AHes THUT b

1 IITE0N, FERAS 1Y Tl
®/US

(A) T I
(B) 9% =
(C) 4= =

(D) gvfteg =a

JEcTieh! IVl ARG Haltes A

e ?
(A) THERI, O 9 A3 T

(B) hfHeh, YR 9 UK ElRI

(C) ik, AR d O [

(D) THERI, e 9 TORR S

T Shifeh A Geds qUEoaTEra!
R TUTRTRT AT Id 2

(A) HHE V
(B) ®I
(C) fer™{ = ‘rho’

(D) FI-THAN
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80. The first stage to do a literature | 80. Hevdfecam=n @ q& HIOGET T
search would be to : THd B el -
(A) Read introductory textbooks (A1 TR Llldugﬁclqvit\{ .
(B) Do a literature search online L. R
(B) 3iMclEd Hifgcar=n sy =0
(C) Ask teacher to give some articles ) )
(C) TRre/rMT FEl @ <TAE HWRTO
(D) Order inter-library loan
81. Match the following physical fitness (D) sie-4 Rl
components with their respective | 81. T&la ¥RIRe Hgedl HehHIAT T
tests : FYIERER 4 Siedl Seodl
List-I List-1I -1 TE-IT
(@) Agility (1) Sazgent Jump @ feaf 1) R
res
(b) Power (2) Trunk Flexion b) T @) =%
(¢c) Balance (3) Right Boomrang (c) (3) T2 &} AR
run (d) wEfgsar (4) Ve €ug
(d) Flexibility (4) Stork stand 5) 60 TE 2w
(5) 60 yard dash T
Codes :
(@ b)) @ @@
(@ b)) @ (@
A B) @ Q) @)
A G @ 1) @)
® G @ @ @ ® G @ @ @
< 3 1 @ @ e 3 O @ @
D 3 BG) 2 @ D) B B) 2 @
31 [P.T.O.



82.

83.

Select the correct answer from the
choices given below :

(I) To ensure reliability, measure-
ment technique and condition
should be standardized to
reduce measurement error.
Length of the test and hetero-
geneity affect reliability of
instrument.

Both (I) and (II) are correct
(I) is correct and (II) is wrong
(C) (II) is correct and (I) is wrong
(D) Both (I) and (II) are wrong
Below are the norms of Grip
strength, Measurement of 23 years
women is 47 kg. What is the
interpretation of this measure-
ment ?

(ID

(A)
(B)

Men
Age 10-19 20-29 30-39
Superior 61 Above Above 54 Above 51
Excellent 51-61 47-54 43-51
Good 47-50 42-46 39-42
Average 41-46 38-41 35-38
Poor 36-40 33-37 30-34
Very Poor Below 36 Below 33 Below 30
Women
Superior 54 Above Above 50 Above 41
Excellent 46-54 44-50 35-41
Good 36-45 38-43 29-34
Average 32-35 32-37 25-28
Poor 28-31 27-31 20-24
Very Poor Below 28 Below 27 Below 20

(A) Arm strength is Superior
(B) Arm strength is Very Poor
(C) Arm strength is Excellent
(D) Arm strength is Good

82.

83.

TNTE

el
SFe

TR
HA
Tq HHI
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Eelel qIEdel SAU=al I qIiEr
fas &3

(1) foeaEadsl @il S, /6
T 3for IRkt & g STmet=
Bl STOh & HIIATIIE 32l ST hid]

Jdra.

(IT) wEE= aet enfor foagRere T
HOR e favaaHiaaer aiRemy
AT

(A) TFE () offor (II) & SeR 3T’
(B) (I) T SR 318 A1 (I1) I 318
(C) (II) § =R Te 3T () I 378
(D) 3= (1) smftr (I) § < 3T

qEId ShIChHY Bl Uehe hdleld

e foorel e, 23 o gar=n Afee
e 47 Y. T9g e A=
HT ?

ey
10-19
61 Above
51-61
47-50
41-46
36-40 33-37
Below 36 Below 33
ufgem
54 Above Above 50
46-54 44-50
36-45 38-43
32-35 32-37
28-31 27-31 20-24
Below 28 Below 27 Below 20

(A) TN dhe Falh®= TR

30-39
Above 51
43-51
39-42
35-38
30-34
Below 30

20-29
Above 54
47-54
42-46
38-41

Above 41
35-41
29-34
25-28

(B) @raren

qhRS GU HH S

(C) Brari

qhe SPTE 3TR

(D) BT

drehe STTell T8
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84. Which of the following skill tests | 84. q&@UHT HIUAT HIVET HAIHT
does NOT include in AAHPERD sqaia JAYTE drEHh AT FHIVTH
Basketball Skill Test ? FHEHY A ?

(A) Speed spot shooting (A) fe w=re gfen

(B) Jumping and turning in the air (B) gamg <ifun smfor =fm
(C) Defensive movement (C) JdMEcHsh BTl

(D) Forward pass (D) wiEe U™

85. “Reliability is the same as : 85. fovauaa =
(A) Consistency (A) I
(B) Truthfulness (B) @9
(C) Representativeness (C) yfafeia
(D) Usefulness (D) 39geadn

86. The SCAT questionnaire tests | 86. ‘SCAT YvATScl @ools,_\ull """""""" Ell
......................... of athletes. FAET BH.

(A) Teaching ability (A) JIEIMgATHAT
(B) Self-confidence (B) F3TcHIGva™
(C) Concentration (C) TWehrdn
(D) Anxiety (D) faa
33 [P.T.O.



87.

88.

Which is the correct formula to

calculate item difficulty ?
(A) Difficulty Index

Number correct in upper group

~ Number correct in lower group
(B) Difficulty Index

Number Answering Wrongly

~ Number Answering Correctly

(C) Difficulty Index

Number answering correctly

Total number of group
(D) Difficulty Index

Number answering correctly

Total number of questions

Which of the following factors NOT
affecting Reliability of Test ?

(A) Method of scoring
(B) Objective of test
(C) Administrative procedure

(D) Length of the test

JUN - 71219/1I—A

87. YIATAT SHIfSTIAUdes = T TS

88.

g G R0 ?

(A) wiferuaed e =

3= TeTd SUeR IO U= &
1= Terd seR ST QUMT=AT=E] &l

(B) whifevauraedt e =

(C) wIfeuaurdest fevle =

Terdtel TR fornefl wemn

(D) =Ifeuaurdest fevlie =

AT THUT HEAT

qEadst oA TeEH  HEIST=A
fovagrader. afom st e ?

(A) TUTRATE 95d

(B) ®urE 3feeew

(C) I HraaSl

(D) HEET s
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89. What is the sequence of the rating | gg GrEeEy W w9 s oAl 2
in somatotyping ?
T — TR — A
(A) Endomorph — Ectomorph — (&)
Mesomorph (B) T — T — e
(B) Endomorph — Mesomorph — . . .
(C) TRMA® — TEH®H — JAGH
Ectomorph
(C) Ectomorph — Endomorph — (D) TEH® — TEH® — TRM®
Mesomorph _ .
90. YeeTieh! ST IR Afhadr Ao
(D) Mesomorph — Endomorph —
FRMS HqeA AR ?
Ectomorph
90. Which of the following is the (A) TR T faned
subjective method of measuring
Physical Activity ? (B) =
(A) Heart rate telemetry (C) STFAeRES
(B) Pedometr y
Y (D) &fT =
(C) Accelerometry
91. FFRUHE BRI d= EeT-skat
(D) Log book
N _a.ﬁ aﬁ.
91. The actual exchange of gases in
lungs takes place in ..................... . (A) IR
(A) Alveoli e
(B) wiem
(B) Trachea
(C) Pharynx ©
(D) Primary bronchus (D) WUl TearEfeTeht
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92.

93.

94.

(1

)

3)

4)

In case of Hull scale practical limits
are from :

(A) —5to+5
(B) — 35 to + 3.5
(C) —3 to+3
(D) — 55t + 5.5

In a longitudinal study, factors such
as maturation changes, mortality
would be considered threats to
what ?

(A) Significance
(B) Internal validity
(C) Instrumentation
(D) Reliability

Match List-I with List-II and select
the correct answer from the codes
given below :

List-I List-II

Cerebral palsy ()  Impairs ability to
communicate

Autism (@) Affects muscle
movement and
coordination

Down Syndrome (i) Causes develop-
ment delays

Epilepsy (fv) Disturbs nerve
cell activity in
brain

Codes :

n @2 & @

A @ @& Gv) @)

B) @ @ G G

(©) @) Gir) Gv) @)

D) @ G @ @i)

92.

93.

94.

(1)

(2)

3)

(4)

JUN - 71219/1I—A

3THdrd.

(A) —5to+5
(B) — 3.5 to + 3.5
(C) —3to+ 3
(D) — 55 to+ 5.5

STeeRTelE HeIEA, Tueedl 96d, T
3. TCHHeS HIVM e gHfaan ?

(A) wrefeRar

(B) 3idifa e
(C) wyAfagan
(D) fowagHema

-1 3 A1 & S[esan ST et
feeiean wfgaqd ara sar faer .

Tret-1 arei-1

TWod et () FaR FHeIr
FITTEA SIY

T (i) T BTAETA
g gH=aTe
geafiomH

T fagm (i) fawmam faaw
frmfor

STIEHR (lv) HEdd =arae
foramme faere

Hehdieh :

0 @ 3 @

A @ @ (v @)

B) @ @ @) (o)

(C) (1) @) Gv) @)

D) @) Gv) G G)
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95. Kicking a ball is which type of | 95. fa=meft %-s; TSl g
fundamental skill ? TR Ad BeETd hRed 3.
(A) Locomotor skill (A) T
(B) Sports skill (B) HIel hive™
(C) Manipulative skill (C) HHEgeifea
(D) Non-locomotor skill (D) ST
96. i is not a fat soluble | 96. “rrrTTT T e[ fataesum
vitamin. SIERESECEE (FiR
(A) Vitamin A (A) SieTe 31
(B) Vitamin C (B) Sfeg< &
(C) Vitamin D (C) SiaTa €
(D) Vitamin K (D) Sead &
97. First aid for seizure includes the | 97. T TTaTd HITIATAT FUHTARTT
following except : qEleTeh! IV a6 Id @ ?
(A) Time the seizure (A) fRe=t des Hrsl
(B) Remove sharp objects (B) SRR GihREeH 9% 5L FH)
(C) Avoid holding the person (C) FKitell W ¥&A a0l
(D) Putting something in mouth (D) TtRe o= SHiT=A qreTa a%q vl
98. Handball skills might be useful | 98. TUSsid TLA HINCH T2t Boadl
while playing basketball is an SUGE] 3& Yehald § =
example of .......cccceeeee. . I R
(A) Negative transfer of learning (A) HU AT GHHT
(B) Zero transfer of learning (B) YA STHAT HRAY
(C) Stable transfer (C) TR dsHm
(D) Positive transfer of learning (D) &1 3TETTA GhHI
37 [P.T.O.



99.

(1)

(2)

3)

Match List-I with List-II and select
the correct answer from the codes

given below :

List-I List-11
Passive muscle () Treadmill
contraction exercise

Active muscle (7)) Plank hold

contraction exercise
Isokinetic (iir) Pull-ups
muscle exercise
contraction
Codes :

1 @ O
A @) @) @
B) @ @) @)
(C) Gu) @) @)
D @ @ @)

100. Apex body related to physical

education teacher education is :
(A) NCTE

(B) SCERT

(C) NCERT

(D) UGC

99.

(1)

(2)

3)

100.

JUN - 71219/11—A
I T A1 & S[esan ST et

feeiean dfgdqd ara SR farer .

Te-1 -1
e =g () Ssfhe =mEm
3R =
qfsra T (i) I TS AW
3R =
AIHEREAICH (i) JoI-AFH SH=H
T ST
Hehdich
1 @ 3
A @ @) @
B) & @) @)
(©) Gu) G @
D) @) @  Gw)

e feraror sremmass fRraromed
Heiferd firer g .

(A) TAHELIE.

(B) TH.H.E.R3L

(C) TA.HLE. 3R

(D) .S
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ROUGH WORK
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ROUGH WORK
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